100

388

10
11

0.41

10

0.02

L
9 101112 1 2 45 6 7 8 9101121 2 3 456 7 8
H19 H20 H21

'3

A

’
/,_—v\‘y
7 7
I ’

91011121 2 3 456 7 8 9101112212 3 456 78

H19

H20

H21

-10

-30

50

21 10 30

21 8

910112123 456 7 8 910112123 456 78
H19 H20 H21

91011212 3 45 67 8 9 1011212 3 456 7 8

HI19 H0 H21




@
H17=100 5.2 3
3 105.2 6.2 5
16.2 3
82.9 4.1
H17=100 103.3 2.6 6
14 3
6 7
-37 7.0 87 -5.2
33 121 37 -6.2
-85 114 96 -16.2
87 -6.3 24 4.1
57 23 241 16
-6.7 -47 -4.9 26
@
8.8 1
5
) 3
3.6 1
8.6 10
5.7 1 1
( 6 7
-88 -76 -86 -88
-65 -6.8 -84 -6.8
48 -30 -6.2 -43
30 -16 -4.9 35
-175 -137 -77 -36
-194 -135 -42 23
-198 -129 21 -86
-184 -16.2 -72 -5.1
-185 -134 -57 -57
-190 -14.5 -5.2 -05
€))
737 55.0 11
( 6 7
437 -42.3 -319 -55.0
( -181 -213 -6.6 -28.1]
-59.7 -57.8 -48.1] -75.4)
-56.6 -19.1] -288 -36.8




%) 1 500

28.7

116 8 1
5
31 4 7 41.5
85 3
22.5 5
( 5 6 8
-04| 468 522 287
415 414 611 -415
=102 -486 431 25
275 -4.0 -39 0.2
®)
0.41 0.02
8.3 2 1
2.1 6
5.4 10
5.5 0.2
( 5 6 8
( 0.40 039 0.39 041]
( 044 043 042 042
-332) -314 -17.7 -83
-19 -20 -1.7 21
-84 -12.8 74 54
5.2 54 57 55
C ( ) 42(4 6 — —
®)
11 39 9 6 26.6
( 5 6 8
( 7 17 8 11
) 415 -7.7 -355 266
Q)
H17=100 101.5 0.6 1.7
5 6 8
4 -01 -0.2) -07] 06
06 -13 —24 -17
0.2 -0.2) 03 03




51.3 1.3
DI 50
5 7
cl 00 45 44 -13
3 07 30 30 26
7 -49 -28 -09 06
DI 429 714 714 64.3
8 91.2
4.1 DI 50 50.0
5 7
cl 58 17 108 El
3 25 42 6.1 238
7 -03 05 12 18
DI 50.0 333 66.7 50.0
(17 =100 Cl
140
120 SN A
> A\ ’
< [ ~ -~ o
100 ~=
= ~ - ..,\ \N - s~
S=oe N I' O~ ‘o -7
80 AP = S g
No \ =~
. \
40 /_/
: &%
0 | | | | | | | | | | | | | | |




